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( PART : A—OBJECTIVE )
{ Marks: 25}

The figures in the margin indicate full marks for the questions

SECTION-—]
( Marks: 15)

1. Select the correct answer by putting a Tick ( v ) mark
in the brackets provided : 1x10=10

fa) How many sides does an account have?

i T™wo ()
{iij Three ==
fiii) One ()
fiv) None of the above ( )
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(2)

(bj Which of the following is correct?

{ij Liabilities = Assets + Capital L)
fiif Assets = Liabilities - Capital { )
(it} Capital = Assets - Liabilities [ )
fiv) Capital = Asscts + Liabilities ol )

{¢) ‘The book in which all accounts are maintained is
known as

(ii Cash Book { )
{iiy Journal ( )
(iti) Purchase Book ( )

fiv) Ledger ( )

{d) The Journal is a book of
{if only cash transaction ( )
fii} original entry ()
fiti) credit sales and purchases { )

fiv) secondary entry ( )
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(3)

fe] —— may have contra entry.
il Simple Cash Book ( ]
fiij Petty Cash Book ( )

iii) Double-column Cash Book { )

fivy All Cash Books { )

(i Goods purchased on cash are recorded in the

i) Purchase Book ( )

fii) Sales Book ( )

{iii} Cash Book ( )

{iv] Purchases Returns Book | )

{g) Sales Book records
{t) sale of assets on credit { )
fity sale of goods on credit ( ]
fitif cash sales ( )
fiv) all credit sales { )
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{"4)

(h) Which of the following is not a business

(i)

i

transaction?

(i) Bought furniture of ¥ 10,000 for
business ( )

(i) Paid salaries of employces ¥ 5,000 ( )

(ii) Paid son’s fees from his personal bank
account ¥ 20,000 (iring)

fiv) Paid son’s fees from the business
& 2,000 [Eay)

— is a contra entry.

i) Selling goods for cash { )

(ii) Depositing cheque into bank which was
received the same day { )

{iij Depositing cheque into bank which was
received the previous day ( )

{iv) Receiving cash from Mohan and allowing
him discount | )

Double-column Cash Book records
(i) only cash transaction { )
fii) all transactions { )

(iii) cash  purchases and cash  sales
transactions ( )

fiv) cash and bank transactions ( )

111/BCA/303/189



(S)

2. State whether the following statements are True (T)
or False (F) by putting a Tick (¥) mark : 1x5=5

{a) Forecast is an estimate of what is likely to
happen.

[Ty SF )

(b) Budgeting is the whole process of designing,
implementation and operation of budgets.

G R

fc) Budgetary control system should adopt the
concept of ‘management by exception’ reporting.

(Sl ES)

fd) A budget period is the period for which the
budget is prepared.

(6T 2 5)

fe) A 'budget is prepared only for medium term.
(BTl
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(6)

SEcTION—II
{ Marks: 10

3. Answer the following questions : 2x5=10

faj What is break-even point?
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(7))

(b) Define the term ‘budget’.
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(c) What is cost sheet?

(8)
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(9)

(d) Distinguish between flexible budget and fixed
budget.
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(10)

fe} Decfine variance analysis.

* %k
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1. (a) From the following Trial Balance, prepare
Trading and Profit & Loss Account for the
year ended on 31st March, 1997 and a

Balance Sheet as on that date : 15

Particulars Debit Crodit
® i

Capital 30,000
Drawings 5,000
Debtors and Creditors 20,000 10 00
Loan 6,530
Interest on Loan 300
Cash 2,000
Provision for Bad debts TOO
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(2)

FPartculars Debit Credit
) |
Stock 6,800
Molar vemcles 10,000
Bank 3,500
Land and Buldings 12,000
Bad debts 500
Purchases and Sales 66,000 1,10,000
Relurns §,000 1,500
Carriage outward 2,500
Carriage inward 3,000
Salaries 9,000
Rent and Insurance 3,000
Advertising 3,500
Discount 500
General expenses 3,400
Bills recewvable and 6,040 2,000
Bills payable
Rent received 300

64,500 1,644,500

Adjustments :

iy Depreciate Land and Buildings at
25% and Motor vehicles at 20%

(ii) Salaries outstanding—# 200

fiii) Prepaid insurance— 200

fiv) Provision for Bad dcebts i1s to be
maintained at 5% on debtors

fv) Closing stock was valued at ¥ 7,000

fb] State the differences between Standard
Costing and Marginal Costing. 5
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(3)

2. fa) Explain the differences  between
Management Accounting and Financial
Accounting. 6

jbj Expluin the role of a Management
Accountant, 4

3. (aj ABCLid. has the following infermation :
Sales fa ¥ 25 per unit) £ 20,000

Variable cost per unit a3
Fixed cost # 8,000 pa,
Calculate PV ratio and break-cven sales
of the company. 6
(b) Explain Lhe advantages of zero-based
budgeting,. q
Or
ja) From the following data, compute
malerial cost varance - 6
Name .Of Standard Actual
Muaterial

Quantity Price Quantity Price

funit] #) lunit) |
Zee 3500 10 3700 12
Wee 1500 21 1650 20
Tee 1000 a3 1280 36

fb} State four limitations of the budgetary
control system, 4
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{1 &5)

4. fa) Calculate current and liquid ratio from
the following information : 6

Balunce Sheet

Liakilinies Armowrt Assels Amount
| )

Share Capatal 100,000 Fixed Asscts 1,50,00:0

Debentures 1,15,000 Laquid Assets 1,20,000

Current Liahilities 65,000 Stock 10,000

2,580,000 2.80,000

{b} Explain the objective and limitation of
ratio analysis. 4

L
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